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Fig.7 the stiffness of the gear

® In the Fig.7 , we see the stiffness of the crack one smaller
than the normal one In one contact region .
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Fig.4 B.D. of gear ® According to the result, we know the gear faults would affect
the stiffness of the gear.
® Divided the contact region of crack tooth into 20 steps. ® Different faults would appear different profile.
® Get the displacement and force of the crack tooth. ® As aresult, we can use It as a basic data to develop the

® Using the equation k= gto solve the stifiness of the machine which can detect the faults of the gear.

gear.




